1. Define “K is a compact set in the metric space X7.
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2. Is the set S compact in X7

— (ii) S is an empty set.

I

(i) X =R? S is some open ball N,(z) for r > 0.

(iii) X = R’. S is a non-empty finite set.
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only if K is compact in X.

3. Given X being a metric space and K C Y C X. Prove that K is compact in Y if and
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4. Let F be a closed set and K be a compact set. Prove that F' N K is a compact set.
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1
e LetK={0}U{;

neN } Prove that K is compact (without using Heine-Borel if you know

~ what it is).
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